PACK 4: Evaluating Perfect Competition and Monopoly – ESSAY STRUCTURE
	QUESTION: Evaluate the idea that promoting perfect competition in markets leads to the best outcomes for society (25 marks)

	INTRODUCTION: What do we mean by perfect competition?  Is it realistic?

	POINT 1: Perfectly competitive firms are more STATICALLY EFFICIENT

Allocative Efficiency

(As) P=MC – must produce what consumers want otherwise will go out of business.  The consumer is King!

(Ae) Certain goods may be inefficient with competitive markets – e.g. a rail network would be inefficient if there was more than one due to massive economies of scale requirements and the small nature of perfectly competitive firms.

(Ae) Cannot produce all goods because costs of production would be too high for a small production – e.g. electricity grid

Productive Efficiency

(As) PC firms produces at lowest point on the AC curve must produce with the best production methods, otherwise will make a loss

(Ae) Only normal profit so no money to invest in more productive methods
	DRAW A POSSIBLE DIAGRAM TO DEMONSTRATE THIS?


	ANY REAL LIFE EXAMPLES?

	POINT 2: Perfectly competitive firms are less likely to be DYNAMICALLY EFFICIENT HOWEVER
(As) “Free rider” problem – if firms are copying each other and it is hard to protect technology, why bother!?  Perfectly competitive firms can only earn normal profit in the long run.

(As) The initial cost of some innovation might be too high for a small firm to finance 

(Ae) Firms have an incentive to earn abnormal profit in the short run due to the competition and so will tend to be more innovative to at least earn abnormal profit in the short run

	ANY REAL LIFE EXAMPLES TO DISCUSS?

	POINT 3: Economic welfare is maximised 

(As) Maximise total welfare to society because consumer and producer surplus is maximised

(Ae) Would the small size of firms be an issue in terms of exploiting economies of scale?  Is the whole model of perfect competition just unrealistic?
	DRAW A POSSIBLE DIAGRAM TO DEMONSTRATE THIS?




	QUESTION: Evaluate the idea that removing monopoly power from markets leads to the best outcomes for society (25 marks)

	INTRODUCTION: What do we mean by a monopoly and monopoly power? For example are we talking about pure monopolies (in which case, maybe they are unrealistic) or are we talking about market power (in which case, there are lots of examples of where they are competing against other big firms)

	POINT 1: Firms with monopoly power are not efficient

Allocative Inefficiency

(As) Monopolies have an incentive to cut production and raise prices artificially (profit maximisation diagram for monopoly firm).  Monopolies are denying some consumers from receiving the good – P>MC and the product is underproduced.  Price discrimination can also result in certain firms being able to prevent consumers from accessing the market.

(Ae) Price discrimination might actually cause a better allocation of resources – rich paying for the poor.

(Ae) Will Monopolies always raise prices and restrict output?  It depends on their monopoly power (e.g. availability of substitutes etc.) – e.g. Eurostar has limited chances to increase prices, despite having significant monopoly power.

(Ae) Natural monopoly argument - might argue that the production of certain goods – e.g. rail networks – would not be provided by competitive markets and must have a large firm to start them up

Productive Inefficiency

(As) Profit satisfaction, not profit maximisation!?  Monopoly firms might not have an incentive to produce at the lowest possible point on the AC (profit maximisation diagram for monopoly firm).  They can just raise prices to maximise profits.

(Ae) If we assume economies of scale, maybe larger firms would have lower costs of production than smaller competitive firms
	DRAW A POSSIBLE DIAGRAM TO DEMONSTRATE THIS?


	ANY REAL LIFE EXAMPLES?

	POINT 2: Firms with monopoly power are more likely to be Dynamically Efficient though?

(As) Economies of scale and abnormal profit mean more money, which gives a monopoly firm the larger likelihood of being able to afford expensive innovation – e.g. pharmaceutical companies 
(Ae) Profit satisfaction? Do monopolies have an incentive to innovate?  


	REAL LIFE EXAMPLES?

	POINT 3: Monopolies lead to a loss of economic welfare
(As) Deadweight loss – complete loss of the benefit of the production of a good to society – will lead to price discrimination.

(As) Consumer surplus is reduced at the expense of producer surplus

(Ae) Too theoretical? – is this realistic to expect firms to know enough about consumer characteristics to be able to price discriminate?
	DRAW A POSSIBLE DIAGRAM TO DEMONSTRATE THIS?


